110/1 985 (9/21~9/31) DFKRILE % (45,000) HDBIRBLRE1To1=,

210/? ERIOEREZERREIE(1200hTHo1-. FPEEEIE
(1,200) A/hZERAL TS,

310/25 &% (160,000) HZIRELTXhoT1=,
410/31 1084 (10/21~10/31) DXILE £ (60,000) HEEt ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFXRILE % (35,000 HDHBIRBLRE1To1=,

210/? ERIOEREZREIE(700hTH-. FPEEEIE
(1,500) H/hZ&{fEALTLYS,

3 10/25 &% (300,000) HZIRELTXIhoT=,
410/31 1084 (10/21~10/31) DKXILE £ (40,000) HEEt ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE S (10,000 HDHBIRBLRE1To1=,

210/? BERIOEREERMEIZ(60)hTHoT-, FEEEIT
(1,000) H/hZ&{fEALTLYS,

3 10/25 &% (54,000 A#I/ETX o1,
410/31 1084 (10/21~10/31) DXILE £ (20,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFRILE % (20,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(180)hTHo-. FPEEEIE
(1,200) A/hZERAL TS,

310/25 &% (215,000 HZIRELTXLoT=,
410/31 1084 (10/21~10/31) DXL E £ (35,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFRILE % (20,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(50)hTHo-. FPEEERIE
(1,500) H/hZ&{fEALTLYS,

310/25 &% (195,000 HZIRELTXhoT=,
410/31 1084 (10/21~10/31) DXILE £ (70,000) HEEt ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (34,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(50)hTHo-. FPEEERIE
(1,500) H/hZ&{fEALTLYS,

310/25 &% (220,000 HZIRELTXhoT=,
410/31 1084 (10/21~10/31) DKXILE £ (40,000) HEEt ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFXRILE % (32,000 HDHBIRBLRE1To1=,

210/? ERIOEREZREIE(700hTH-. FPEEEIE
(1,500) H/hZ&{fEALTLYS,

310/25 &% (260,000) HZIRELTXhoT=,
410/31 1084 (10/21~10/31) DKXILE £ (40,000) HEEt ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (46,000) HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(1400hTHo-. FPEEERIE
(1,700) A/hZERAL TS,

310/25 &% (248,000) HZIREL TXIhoT1=,
410/31 1084 (10/21~10/31) DXL E £ (50,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (34,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(50)hTHo-. FPEEERIE
(1,500) H/hZ&{fEALTLYS,

310/25 &% (22,0000 H#IRLTXLoT=,
410/31 1084 (10/21~10/31) DKXILE £ (25,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (48,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(180)hTHo-. FPEEEIE
(1,900) H/hZ&={fEALTLYS,

3 10/25 &% (340,000 HZIRELTXIhoT=,
410/31 10845 (10/21~10/31) DXILE £ (59,000) HEEt ELT-,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFRILE % (30,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(00)hTH-. FPEEERIE
(1,000) H/hZ&{fEALTLYS,

3 10/25 &% (500,000) HZIRELTXILoT=,
410/31 1084 (10/21~10/31) DXL E £ (50,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (34,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(160)hTHo-. PEEERIE
(1,600) H/hZ&={fEALTLYS,

3 10/25 &% (300,000) HZIRELTXIhoT=,
410/31 1084 (10/21~10/31) DXILE £ (20,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (40,000 HDHBIRBLRE1To1=,

2 10/? ERIOEZREERREIE(2000hTHo1-. FPEEEIE
(2,000) H/hZ&{EALTLYS,

3 10/25 &% (350,000) HZIRELTXIhoT=,
410/31 10845 (10/21~10/31) DEXLE £ (100,000) AZEE ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DEXILE £ (553,600) D BIRE T RE1To1-,

210/? ERIOEREZEREIE (71000 THo-. TPEEERIE
(5,000) A/hZERAL TS,

310/25 &% (3,650,300) HZIRE TX>T=,
410/31 10845 (10/21~10/31) DEXLE £ (536,700) AZEE+ EL 7=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DXL E £ (100,000) D BIRE T RE1To1-,

210/? ERIOEREZERREIE(213)hTHo1-. FPEEEIE
(2,013)H/hZEERAL TS,

310/25 E%(432,795) A% &ETxHho1=,
410/31 10845 (10/21~10/31) DEXLE £ (100,000) AZEE ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFRILE % (50,000) HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(1400hTHo-. FPEEERIE
(1,000) A/hZERAL TS,

310/25 &% (135,000 HZIRELTXILoT=,
410/31 1084 (10/21~10/31) DXL E £ (30,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (40,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(1200hTHo1-. FPEEEIE
(1,200) A/hZERAL TS,

310/25 &% (124,000) HZIRELTXhoT1=,
410/31 1084 (10/21~10/31) DXL E £ (30,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DXL E £ (100,000) D BIRE T RE1To1-,

210/? ERIOEREZERREIE(00)hTH-. FPEEERIE
(2,000) H/hZ&fERALTLS,

310/25 &% (180,000) HZIREL TXhoT1=,
410/31 10845 (10/21~10/31) DEXLE £ (123,000) AZEEH ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFXRILE X (1,000) HDOHBIRBLRE1To1=,

210/? BERIOEREEEBIET(0hTH =, FTEEEIL
(100) H/hZ&=fEALTLYS,

310/25 &% (2,000) A%HETX>1-,
410/31 1084 (10/21~10/31) DFRILE £ (500) %5t ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFRILE % (50,000) HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(50)hTHo-. FPEEERIE
(2,000) H/hZ&{EALTLYS,

310/25 &% (280,000) HZIRELTXIhoT=,
410/31 1084 (10/21~10/31) DXILE £ (78,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFRILE % (50,000) HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(1400hTHo-. FPEEERIE
(1,000) A/hZERAL TS,

310/25 &% (135,000 HZIRELTXILoT=,
410/31 1084 (10/21~10/31) DXL E £ (30,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DXL E £ (200,000) D BIRE T RE1To1-,

210/?7 BEEIOEEFEERME(5000hTHof=. TEEERIL
(2,000) A/hZ=fEAL TS,

3 10/25 &% (800,000) HZIRELTXIhoT=,
410/31 10845 (10/21~10/31) DEXLE % (500,000) A%EE+ ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (40,000 HDHBIRBLRE1To1=,

2 10/? ERIOEZREERREIE(2000hTHo1-. FPEEEIE
(2,000) H/hZ&{EALTLYS,

3 10/25 &% (400,000) HZIRELTXLoT=,
410/31 10845 (10/21~10/31) DEXLE £ (100,000) AZEE ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFXRILEE (1,200) HDOBIRBLRE1To1=,

2 10/? ERIOEZREERREIE(2000hTHo1-. FPEEEIE
(1,200) A/hZERAL TS,

310/25 &% (210,000 HZIRELTXhoT1=,
410/31 1084 (10/21~10/31) DKXILE £ (34,000) HEEt ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (45,000) HDBIRBLRE1To1=,

210/? ERIOEREZERREIE(1200hTHo1-. FPEEEIE
(1,200) A/hZERAL TS,

310/25 &% (143,000) HZIRELTXhoT1=,
410/31 1084 (10/21~10/31) DXILE £ (60,000) HEEt ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFRILE % (30,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(50)hTHo-. FPEEERIE
(1,600) H/hZ&={fEALTLYS,

310/25 &% (215,000 HZIRELTXLoT=,
410/31 1084 (10/21~10/31) DXL E £ (36,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (34,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(210hTHo1-. FPEEE(IE
(800) A/hZ{EALTL S,

310/25 &% (165,000) HZIRELTXhoT1=,
410/31 10845 (10/21~10/31) DKXILE £ (43,000) HEEt ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (40,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(180)hTHo-. FPEEEIE
(1,800) H/hZ&={fEALTLYS,

3 10/25 &% (320,000 HZIRELTXIhoT=,
410/31 10845 (10/21~10/31) DKXILE £ (48,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (34,000 HDHBIRBLRE1To1=,

2 10/? ERIOEZREERREIE(2000hTHo1-. FPEEEIE
(1,500) H/hZ&{fEALTLYS,

310/25 &% (290,000 HZIRELTXIhoT=,
410/31 1084 (10/21~10/31) DXL E £ (56,000) HEEt ELT-,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFRILE % (50,000) HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(00)hTH-. FPEEERIE
(1,000) H/hZ&{fEALTLYS,

310/25 &% (180,000) HZIREL TXhoT1=,
410/31 1084 (10/21~10/31) DXL E £ (30,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (34,000 HDHBIRBLRE1To1=,

210/? ERIOEREZREIE(700hTH-. FPEEEIE
(1,700) A/hZERAL TS,

310/25 &% (286,000) HZIRELTXIhoT=,
410/31 1084 (10/21~10/31) DKXILE £ (40,000) HEEt ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (25,000 HDBIRBLRE1To1=,

210/? ERIOEREZERREIE(50)hTHo-. FPEEERIE
(1,800) H/hZ&={fEALTLYS,

3 10/25 &% (250,000) HZIRELTXIhoT=,
410/31 1084 (10/21~10/31) DXL E £ (50,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILEE (14,560) D BIRBLRE1To1=,

210/? ERIOEREZERREIEG78)hTH-. FPEEEIE
(2,360) H/hZ&={fEALTLYS,

3 10/25 &% (1,000,000) HZIRE TX>T=,
410/31 10845 (10/21~10/31) DXILE £ (28,976) HEEt ELT-,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFRILE % (50,000) HDHBIRBLRE1To1=,

2 10/? ERIOEZREERREIE(2000hTHo1-. FPEEEIE
(2,000) H/hZ&{EALTLYS,

3 10/25 &% (390,000) HZIRELTX o1,
410/31 1084 (10/21~10/31) DXL E £ (80,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DXL E £ (200,000) D BIRE T RE1To1-,

2 10/? ERIOEZREZERREIE(4000hTHo1-. FPEEE(E
(2,000) H/hZ&{EALTLYS,

3 10/25 &% (750,000) HZIRELTXhoT1=,
410/31 10845 (10/21~10/31) DEXLE £ (150,000) AZEE ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (34,000 HDHBIRBLRE1To1=,

2 10/? ERIOEZREERREIE(2000hTHo1-. FPEEEIE
(2,000) H/hZ&{EALTLYS,

3 10/25 &% (600,000) HZIRELTXIhoT=,
410/31 1084 (10/21~10/31) DXL E £ (30,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (34,000 HDHBIRBLRE1To1=,

2 10/? ERIOEZREERREIE(2000hTHo1-. FPEEEIE
(1,000) A/hZERAL TS,

310/25 &% (230,000 HZIRELTX o1,
410/31 1084 (10/21~10/31) DXILE £ (20,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (34,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(50)hTHo-. FPEEERIE
(1,500) H/hZ&{fEALTLYS,

310/25 &% (224,000 HZIRELTXILoT=,
410/31 1084 (10/21~10/31) DXL E £ (35,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFKRILE % (34,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(00)hTH-. FPEEERIE
(1,160) H/hZ&={fEALTL VS,

310/25 &% (100,000) HZIRELTXhoT=,
410/31 1084 (10/21~10/31) DXILE £ (60,000) HEEt ELT=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFRILE % (30,000 HDHBIRBLRE1To1=,

210/? ERIOEREZERREIE(1400hTHo-. FPEEERIE
(1,400) A/hZERAL TS,

310/25 E%(194,000) H%#IETxHho1=,
410/31 1084 (10/21~10/31) DXL E £ (35,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,



110/1 985 (9/21~9/31) DFXRILE % (29,000 HDHBIRBLRE1To1=,

2 10/? ERIOEZREERREIE(2000hTHo1-. FPEEEIE
(1,500) H/hZ&{fEALTLYS,

310/25 &% (298,000 HZIRELTXIhoT=,
410/31 1084 (10/21~10/31) DXL E £ (55,000) HEEt ELT-=,

510/31 PEMEEELEFHEEROEREZNEL,





